Keunbaik Lee : Problem 5.16
i)
L(y,2l8) = h(y.Dexp[Y m(OT:(v,2) - BO)
QOO y) = FurllogLe(0ly.2)]
= Earllog h(y,Z)] + 3 :(6) Bo- [T(v, Z)ly] - B(6)

ii) To calculate the complete-data MLE, we calculate %Q(Gw*,y).
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Now,

// L(y,z|f)dzdy =1
yJz

= PO = / /h y,z)exp[ E 7i( z)]|dzdy
0 B(9) a
98¢ _ B(6) exp[_; Th 0)Ti(y,z)]
= B = /y/zh dzdy

& 61(3;20) _ / / <% Zm(a)Ti(y,z)) h(y,z)exp (Z m:(0)Ti(y,2) — B(0)> dzdy
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From above results(*,**),

S OB, DN = Y 2ni6) B [Ty, )l



& Z %ﬂi(a)Ee[TiW] = Z %ni(g)Em[Tﬂy]

Hence, calculating the complete-data MLE only involves the sim-

pler expectation Ey-[T;|y].



